
 2,4m 

 3
,2

m
 

 W1  W2 

 L1 

 L2 
 R1,0m 

>CPSC
>EN 1176

<0,70m

1

Jede woche

Varje vecka
Every week

Chaque semaine

Chaque saison
Jedes Jahr
Every season
Varje säsong

1h

2-5 

 

8049868
8052542

0,0

-0,7

-0,42

-0,60

BM CC S OM

-0,03

MASW35309 MASW32922 MASW34398MASW33353

L1=L2
W1=W2

7,5m²

TeK3 JOT 2016-03-18 0

MASW52202
 1 ( 3)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Rocking equipment
HAGS



STEP 1
1

3

5

4

2

STEP 2

23Nm

1

7
8 9

10

6

NR. Description MA Item Number Qty

1 420x170 mm 8049204 1

2 456 x 188 mm 12131212 1

3 Lock Nut M8 8008795 3

4 Ø9x18x2 mm 8008849 
(326017) 3

5 K6S M8x30 mm 302500 3

6 874 x 655 mm 12131210-01 1

7 Ø15/10 x 16 mm 8005599 4

8 MC6S M8x40 mm 302615 4

9 Ø28/18x12 mm 260696 4

10 Loctite 270 3ml 262543 1 TeK3 JOT 2016-03-18 0

MASW52202
 2 ( 3)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Rocking equipment
HAGS



STEP 3

3

2

1

NR. Description MA Item Number Qty

1 Cage Nut M10 8008817 
(324808) 4

2 Ø11x24x2 mm 8008850 
(326018) 4

3 MK6S M10x20 mm 8008451 
(302506) 4 TeK3 JOT 2016-03-18 0

MASW52202
 3 ( 3)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Rocking equipment
HAGS


	Sheet1
	Drawing View12
	Drawing View16
	Drawing View29

	Sheet3
	Drawing View23
	Drawing View24
	Drawing View25
	Detail View  (1 : 5)

	Sheet2
	Drawing View21
	Drawing View33
	Detail View A (1 : 3)


